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Zadatak 13. Odredi površinu trokuta �ABC ako je
b + c = 11.5 cm, a = 2.5 cm i α = 23◦ .

Rješenje.

b + c = 11.5 cm

a = 2.5 cm

α = 23◦

P =?

a2 = b2 + c2 − 2bc cos α
2.52 = b2 + (11.5 − b)2 − 2b(11.5 − b) cos 23◦

6.25 = b2 + 135.25 − 23b + b2 − 21.1716b + 1.841b2

3.841b2 − 44.1716b + 126 = 0

b1,2 =
44.1716±√

44.17162 − 4 · 3.841 · 126
2 · 3.841

=
44.1716 ± 3.90720

7.682
b1 = 5.24 cm =⇒ c1 = 6.26 cm

b2 = 6.26 cm =⇒ c1 = 5.24 cm

P =
bc sin α

2
=

5.24 · 6.26 · sin 32◦

2
= 6.41 cm2

491




